Low-Power, High-Performance Optimization of Full Adders in CNFET and FinFET Technology

Pinjari Ahmed ^[1], Sri.Kusupati Naga Koushil Reddy ^[2]

^[1] M. Tech Scholar, G.Pulla Reddy Engineering College, Kurnool, India

^[2] Assistant Professor M.Tech, MS(LONDON), G.Pulla Reddy Engineering College, Kurnool, India

Abstract - In this paper, we study the performance of Full Adder circuit with three different FET devices, MOSFET, CNTFET, in 32nm and FinFET in 22nm technology. The full adder circuit is implemented using different logic styles, and compared under the three transistor technology. Average Power consumption and delay of full adder are investigated using HSPICE simulations. Here we find out which one show thebest performance among the three with the least power consumption and propagation delaywhen compared with their counterpart.

Keywords: Carbon nanotube field-effect transistor (CNFET)32nm, full adder, low-energy, FinFET22nm, MOSFET 32nm.

I. INTRODUCTION

Addition is the most basic arithmetic operation and usually used in any digital electronic devices and arithmetic logic unit (ALU) to add any value of numbers. The commonly used adder cell is full adder where three inputs i.e. A, B and C_{IN} will be added together to calculate the output of Sum and COUT. The expression for Sum and C_{OUT} is given by:

Sum = $(\overline{B \oplus C})$. A + (B $\oplus C$). Ā	(1)
$C_{out} = (\overline{B \oplus C}) \cdot B + (B \oplus C) \cdot A$	(2)

Where above Equations are generated from the truth table of 1-bit full adder as shown in Table 1. Full adder circuit provides a Sum and a Carry output (Cout) as the result of addition for three input binary digits, named A, B, and Cin. The Cout signal is passed to the higher significant position if it exists. Since a full adder plays a key role in determining the performance parameters of an entire digital system, various designs have been addressed in the literature over years. Each of these designs has its own merits and demerits, in terms of power consumption and speed.

INPUTS			OUT	PUTS		
Α	B	С	SUM	Cout		
0	0	0	0	0		
0	0	1	1	0		
0	1	0	1	0		
0	1	1	0	1		
1	0	0	1	0		
1	0	1	0	1		
1	1	0	0	1		
1	1	1	1	1		

Table 1: Truth table of 1 bit full adder

In general, a full adder belongs to either a dynamic or a static style. Although a dynamic style full adder has small on-chip area and high-speed operation compared with a static style full adder, but it suffers from some inherent handicaps, such as susceptibility to leakage, charge sharing, high clock load, and low noise immunity [9]. Therefore, we do not include dynamic full adders in our discussions in this paper. Some recent published static style full adder cells are deeply reviewed in the following. The full adder, based on complementary classical standard metal-oxide semiconductor (CMOS) logic design. This cell is called C-CMOS and consists of 28 transistors. The C-CMOS design does not use complement of input signals, and therefore, the short-circuit current is reduced. Another benefit of C-CMOS is that it produces full voltage swing outputs. The critical path of C-CMOS circuit contains five transistors, which results in long propagation delay. In MOSFET technology, the ratio of size of pMOS to nMOS should be almost three to have equal switching speed between them and good noise margin for the circuit. This causes the existence of large input capacitance in MOSFET technology and consequently more delay and power dissipation. On the other hand, since in CNFET technology, the both p-type (pCNFET) and ntype (nCNFET) transistors have equal current driving capability with the same transistor dimension [18], their sizes are set, such that to be equal. In conclusion, in the CNFET technology, the input capacitance of C-CMOS cell will be small. Another complementary design, namely Mirror, is reached with a cleverly change in the structure of C-CMOS. The Mirror uses the same number of transistors as used in the C-CMOS and consumes almost equal power dissipation. The main difference is that the maximum propagation path of the Mirror consists of four transistors, which is smaller than that of the C-CMOS. Therefore, the Mirror design is expected to be faster than the C-CMOS design. The TFA circuit is based on transmission function theory. The maximum propagation path of the TFA contains four transistors. The TFA is constructed using 16 transistors. The power consumption of the TFA is expected to be lower than that of the C-CMOS and Mirrorcells due to lower transistor countand lower input capacitances. It is worth to point out that the TFA has not driving outputs, and its performance will significantly degrade either in the presence of large fan-outs or in a cascaded configuration. This is due to coupling the inputs to the outputs of the circuit. The design of a transmission gate full adder (TGA)The TGA comprises 20 transistors, and its critical path has four transistors. The same as the TFA, since the inputs of the

IJRECE Vol. 6 Issue 4 (October- December 2018)

TGA cell are coupled to the outputs, it suffers from lacking driving power. Lacking driving capability drastically degrades the performance of the TGA, where it is employed in a cascaded structure or where there are large fan-outs. One solution to alleviate the performance degradation is to put buffers at the output nodes between consecutive cascaded stages. However, this approach results in transistor count overhead and removes the

advantage of small transistor counts in large cascaded circuits. The TGA cell performs better than the TFA due to employing TGs at the output nodes instead of pass transistors. In fact, its delay and power dissipation are less than that of TFA, especially in larger circuits. The CPL-TG not only is dual rail but also provides driving capability at the expense of large transistor count. Then, it is advantageous in the cascaded circuits. To generate the XOR/XNOR functions, it uses CPL.

II. PROPOSED METHODOLOGY & SIMULATION RESULTS

Proposed Full Adders shows six different designs of full adder cells, which employ hybrid logic style. Show below Fig.1 to fig.6 is produced by replacing the XOR/XNOR module with the proposed XOR/XNOR cells shown in fig. below. All these full adder cells provide delay and average power capability by decoupling inputs and outputs. Furthermore, the full adder without driving outputs that we intentionally include in our simulations to show the effect of output driving power in determining performance measures of full adders. This design is realized by replacing the XOR/XNOR module presented with the XOR/XNOR circuit .We are later intended to clarify the advantage of full adders over the block diagram shown in Fig.1 the schematic of the first proposed full adder cell, which employs PTL to provide XOR/XNOR functions.



Figure 1: Pass-Transistor Full Adder (FA-Design 1)

The pass-transistor full adder (PT-FA) consists of 26 transistors. The critical path of the PT-FA consists of four transistors. This structure provides a good driving capability, using NOT gates at the output nodes. In fact, it guarantees the proper functionality when it is embedded inside large circuits in a cascaded form. Nonfull-swing

ISSN: 2393-9028 (PRINT) | ISSN: 2348-2281 (ONLINE)

outputs of XOR/XNOR circuits embedded in the PT-FA cause leakage current and consequently large power consumption. Feedback loop transistors in the XOR/XNOR circuit of the Feedback Loop-Full Adder (FL-FA) full adder, shown in Fig. 2, restore the non-full-swing outputs of the XOR/XNOR circuit. The FL-FA contains more transistors compared with the PT-FA, 28 transistors.



Figure 2: Feedback Loop-Full Adder (FA-Design 2)

The critical path of the FL-FA consists of four transistors. The same as the PT-FA, inverters at the output nodes of FL-FA provide desired driving power for the following cells. Feedback loop transistors decrease power consumption by generating full output voltage swing and removing static power dissipation, while feedback loop decreases the delay of circuit as well. The other proposed full adder, which contains double driving path for XOR/XNOR circuits, called Double Driving-Full Adder (DD-FA), is shown in Fig.3. The DD-FA employs transmission function along with PTL logic to produce full-swing outputs for the XOR/XNOR circuit.



Figure 3: Double Driving-Full Adder (FA-Design 3)

It contains 30 transistors, and the propagation delay consists of four transistors. Since TG is inherently a low-power circuit, the power consumption of the DD-FA is less than the PT-FA and FL-FA circuits. The fourth proposed full adder shown in Fig.4 that contains single driving path for the XOR/XNOR circuit is called -Single Driving-Full Adder (SD-FA), and has 28 transistors.



Figure 4: Single Driving-Full Adder (FA-Design 4) It uses TG and PTL logics to produce desired outputs, the same as the DD-FA. The difference between DD-FA and SD-FA is that the SD-FA cell employs only two TGs to generate full voltage swing intermediate outputs (i.e., the outputs of the XOR/XNOR circuit). Thus, it has two fewer transistors than the DDFA and consumes slightly lower power. The design shown in Fig.5, which removes two pass transistors of single driving path of the XOR/XNOR circuit, is called -Removed Single Driving-Full Adder (RSD-FA). This design removes two pass transistors while at the same time maintaining the rail-to-rail outputs for the XOR/XNOR circuits.



Figure 5: Removed Single Driving-Full Adder (FA-Design 5)

ISSN: 2393-9028 (PRINT) | ISSN: 2348-2281 (ONLINE)

The same as the other proposed full adders, it benefits driving capability. The RSD-FA has 26 transistors, which is less than the transistors of FLFA, DD-FA, and SD-FA. Therefore, it is expected to have the least power dissipation compared with others. Fig.6 a full adder cell with non-driving power called Non Driving-Full Adder (ND-FA). The ND-FA produces full-swing outputs because of applying TGs in its structure.



Figure 6: Non Driving-Full Adder (FA-Design 6)

Unlike the previous ones, the ND-FA suffers from lacking driving power due to coupling inputs to outputs. On the other hand, a remarkable advantage of the ND-FA is that it is faster than the previous proposed full adders because of three transistors being in its critical path. The minimum transistor count, which is 24 transistors, belongs to the ND-FA design. Note that the ND-FA performs well when used solely in the presence of small fan-outs; but when it is used in the presence of larger fan-outs or cascaded structures, its performance decreaseddramatically.

III. SIMULATION RESULTS

The Adder Circuits is simulated on HSPICE Software tool. The model used for FinFET circuit analysis is BSIM-CMG for 32nm FinFET device. BSIM-CMG is a model for MG transistors which are implemented in Verilog-A and models for 32nm MOSFET and 32nm CNTFET from PTM website. This model describes all the important behaviour of MG transistor. It is physics based model which is scalable and predictive over a wide range of device parameters [12]. In table 2, Average power consumption, delay and PDP are shown, it is seen that FinFET based Full adder design show best performance on the basis of Power, Delay and PDP. IJRECE Vol. 6 ISSUE 4 (OCTOBER- DECEMBER 2018)

ISSN: 2393-9028 (PRINT) | ISSN: 2348-2281 (ONLINE)

Table 2: Average Power Consumption, Delay and PDP Comparison.

Name	MOS		CNFET			FinFET			
	Power	Delay	PDP	Power	Delay	PDP	Power	Delay	PDP
FA-Design 1	17.400	71.500	1244.100	0.290	6.430	1.865	0.046	6.440	0.294
FA-Design2	34.900	68.000	2373.200	0.317	3.500	1.110	0.081	6.730	0.546
FA-Design3	38.400	72.600	2787.840	0.189	7.580	1.433	0.084	16.000	1.336
FA-Design4	31.200	70.100	2187.120	0.194	3.490	0.677	0.088	13.200	1.159
FA-Design5	23.200	72.600	1684.320	0.204	3.330	0.679	0.083	15.400	1.281
FA-Design6	29.600	17.300	512.080	0.155	0.052	0.008	0.079	0.064	0.005

AVERAGE POWER CONSUMPTION (E-6 W), DELAY (E-11 S), PDP (E-17 J)

In table 3, Average power consumption, delay and PDP with variations in Vdd, 0.9v, 1.0v and 1.1vare shown, it is seen that FinFET based Full adder design show best performance on the basis of Power, Delay and PDP. With variation of power supply, it is seen that with 0.9v Vdd, Average power is reduced but delay is increased, best optimization can be achieved at vdd=1v.

Table 3: Average Power Consumption, Delay and PDP Comparison (Vdd Variations) AVERAGE POWER CONSUMPTION (E-6 W), DELAY (E-11 S), AND PDP (E-17 J) RESULTS FOR DIFFERENT POWER **SUPPLIES**

Name		CNFET			FinFET			
		Power	Delay	PDP	Power	Delay	PDP	
Vdd =0.9V	FA-Design 1	0.150	12.700	1.905	0.018	12.800	0.230	
	FA-Design2	0.190	13.500	2.565	0.038	9.690	0.371	
	FA-Design3	0.104	13.100	1.362	0.028	43.800	1.231	
	FA-Design4	0.104	11.700	1.217	0.031	20.600	0.634	
	FA-Design5	0.107	12.000	1.284	0.036	20.700	0.741	
	FA-Design6	0.068	0.021	0.001	0.024	0.102	0.002	
VII I OV	FA-Design 1	29.000	6.430	186.470	0.046	6.440	0.294	
	FA-Design2	31.700	3.500	110.950	0.081	6.730	0.546	
	FA-Design3	18.900	7.580	143.262	0.084	16.000	1.336	
v du =1.0 v	FA-Design4	19.400	3.490	67.706	0.088	13.200	1.160	
	FA-Design5	10.400	3.330	34.632	0.083	15.400	1.281	
	FA-Design6	15.500	0.051	0.794	0.079	0.064	0.005	
Vdd =1.1V	FA-Design 1	0.434	6.410	2.782	0.078	5.870	0.457	
	FA-Design2	0.621	6.240	3.875	0.116	5.470	0.635	
	FA-Design3	0.365	6.360	2.321	0.155	4.340	0.673	
	FA-Design4	0.391	7.480	2.925	0.138	4.120	0.569	
	FA-Design5	0.405	6.430	2.604	0.160	4.140	0.662	
	FA-Design6	0.303	0.089	0.027	0.115	0.058	0.007	

In figure 7, Average Power consumption of FinFET and CNFET based full adders. It is clear that FinFET based have best average power consumption, especially for circuit full adder design 1.

INTERNATIONAL JOURNAL OF RESEARCH IN ELECTRONICS AND COMPUTER ENGINEERING A UNIT OF I2OR 307 | Page



Figure 7: Average Power Consumption for MOS, FinFET and CNFET for all Full Adder Design

In figure 8, Delay of FinFET and CNFET based full adders. It is clear that FinFET based have best delay in Full adder design 6. In Full Adder design 4 and 5, Delay is increased in FinFET based circuits.



Figure 8: Delay for MOS, FinFET and CNFET for all Full Adder Design

In figure 9, PDP with variation of NFIN that is number of fins is shown in FinFET based Full adders. Minimum PDP is seen in Full Adder design 6.



Figure 9: PDP NFIN Variation

IV. CONCLUSION

In this paper, a high-speed and high-performance FinFETbased Full Adder cell for low-voltage applications has been proposed. The Sum and Cout generator modules of this Full Adder, which are fully symmetric and have the same hardware configurations, produce the Sum and Cout signals in a parallel manner. The great advantage of the proposed cell is its very short critical path, which consists of only two CNFETs. This leads to very short propagation delay and also makes this design appropriate for lowvoltage applications. Results of the comprehensive simulations demonstrate considerable improvements in terms of delay and in terms of average power in comparison with the other conventional and technology 32-nm MOSFET and CNFETbased Full Adder cells, in various situations. Full Adder design 6 is improved by the use of FinFET technology on basis of Average Power Consumption, delay and PDP. Power is improved by 84.13% when compared to CNTFET, 37.5% improved is seen in PDP for FinFET based FA Design 6.

V. REFERENCES

- YavarSafaeiMehrabani and Mohammad Eshghi "Noise and Process Variation Tolerant, Low-Power, High-Speed, and Low-Energy Full Adders in CNFET Technology"1063-8210
 ©pp. 1-16 2016 IEEE
- [2]. Balaji Ramakrishna S and Aswatha A.R"CNTFET BASED NOVEL 14T ADDER CELL FOR LOW POWER COMPUTATION"ICTACT JOURNAL ON MICROELECTRONICS, OCTOBER pp.431-438 2017, VOLUME: 03, ISSUE: 03
- [3]. Mehdi Masoudi, MiladMazaheri, AliakbarRezaei and KeivanNavi"DESIGNING HIGH-SPEED, LOW-POWER FULL ADDER CELLS BASED ON CARBON NANOTUBE

TECHNOLOGY"VLSICS Vol.5, No.5, October pp.31-39 2014

- [4]. PriyaKaushal, Rajesh Mehra"Energy Efficient CNTFET Based Full Adder Using Hybrid Logic"*IJRITCC / July pp.98-*103 2017
- [5]. SeyyedAshkanEbrahimia, Mohammad Reza ReshadiNezhada,"A Implementation for a 2n -1 Modular Adder Through Carbon Nanotube Field Effect Transistors"April 2015, Volume 2, Number 2 (pp. 129– 139)JComSec
- [6]. K. Sridharan, SundaraiahGurindagunta, and VikramkumarPudi "Efficient Multiternary Digit Adder Design in CNTFET Technology" 1536-125X/\$31.00 © pp. 283-287 2013 IEEE
- [7]. M. Aguirre-Hernandez and M. Linares-Aranda, "CMOS fulladders forenergy-efficient arithmetic applications," *IEEE Trans. Very Large ScalenIntegr. (VLSI) Syst.*, vol. 19, no. 4, pp. 718–721, Apr. 2011.
- [8]. Subhajit Das, Sandip Bhattacharya, Debaprasad Das "Design of Digital Logic Circuits using Carbon Nanotube Field Effect Transistors"*IJSCE ISSN: 2231-2307, Volume-1, Issue-6, December pp. 173-178 2011*
- [9]. S. Goel, A. Kumar, and M. Bayoumi, "Design of robust, energy-efficient full adders for deep-submicrometer design using hybrid-CMOS logic style," IEEE Trans. Very Large Scale Integr. (VLSI) Syst., vol. 14, no. 12, pp. 1309–1321, Dec. 2006.
- [10].M. Moradi, R. F. Mirzaee, M. H. Moaiyeri, and KeivanNavi, "An Applicable High-Efficient CNTFET-Based Full Adder Cell for Practical Environments", IEEE International Symposium on Computer Architecture and Digital Systems (CADS), pp. 7-12, May 2012.
- [11].Seyyed Ashkan Ebrahimi, Peiman Keshavarzian, Saeid Sorouri, Mahyar Shahsavari "Low Power CNTFET- Based Ternary Full Adder Cell for Nanoelectronics" (IJSCE) ISSN: 2231-2307, Volume-2, Issue-2, May pp.291-295 2012

INTERNATIONAL JOURNAL OF RESEARCH IN ELECTRONICS AND COMPUTER ENGINEERING

IJRECE VOL. 6 ISSUE 4 (OCTOBER- DECEMBER 2018)

ISSN: 2393-9028 (PRINT) | ISSN: 2348-2281 (ONLINE)

- [12].P. Bhattacharyya, B. Kundu, S. Ghosh, V. Kumar, and A. Dandapat, "Performance analysis of a low-power high-speed hybrid 1-bit full adder circuit," *IEEE Trans. Very Large Scale Integr. (VLSI) Syst.*, vol. 23,no. 10, pp. 2001–2008, Oct. 2015.
- [13].Gali Steffi Priyanka Reddy and SaradaMusala A. Surendar"A Review Article on Performance Comparison of CNTFET Based Full Adders"*International Journal of Control Theory* and Applications pp.183-199 2017
- [14].M. Hossein Moaiyeri, M. Nasiri, and N. Khastoo, "An efficient ternary serial adder based on carbon nanotube FETs", an International Journal of Engineering Science and Technology, Vol. 19, No. 1, pp. 271–278, March 2016
- [15].M. Patil and R. K. Mahesh, "Power Efficient Parallel Adder Design Using CNTFET Technology" (IJEEME), Vol. 2, No. 4, pp. 2831, 2015.